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Avarage

Average
Number of Total Score for] Number of
Surveys by Questions Surveys by Audits we have received
Score Percentage (2009) Score Percentage through Oct. 2010
5 {Strongly Agree) 39 28% 5 (Strongiy Agree) 1395 - 118 61% 5 (Strongly Agree)
4 (Agree) 47 34% 4 (Agree) 536 45 24% 4 (Agree)
3 (Neutral) 22 16% 3 (Neutral) 24 8 4% 3 (Neutral)
2 (Disagree) 7 5% 2 (Disagree) 56 5 2% 2 (Disagree)
1 (Strongly Disagree) 17 12% 1 (Strongly Disagree) 13 1 % 1 (Strongly Disagree)
N/A (Not Applicable) 8 5% N/A (Not Applicable) 68 6 3% N/A (Not Applicable)
Total 1656 100% Total 2280 100% Total 1680 100%
Total Number of Surveys 138 Total Number of Surveys 190 Total Number of Surveys 140

Total Number of Surveys=138; Total Number of Questions per Survey= 12;
Total Number of Questions= 1,656

Score
S (Strongly Agree)

W4 (Agree)

% 3 (Neutral)

82 (Disagree)

B 1 (strongly Disagree)
@ N/A {Not Applicable)

Total Number of Surveys=190; Total Number of Questions per Survey= 12;
Total Number of Questions= 2,280

-munm_mmesz Agree)
W4 (Agree)

# 3 (Neutral)

w2 (Disagree)

o1 {Strongly Disagree)

£N/A (Not Applicable)

Total Number of Surveys=140; Total Number of Questions per Survey= 12;
Total Number of Questions= 1,680

Score
85 (Strongly Agree)

md {Agree}

# 3 {Neutral}

=2 (Disagree)

81 {Strongly Disagree}

@ N/A {Not Applicable)




